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44 1 3 6 9 13 0 0 12 0
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(%) (%) Q)
5,683,434 100.0 % 5,653,027 100.0 % 30,407 0.5%
3,416,062 60.2 % 3,386,855 60.0 % 29,207 0.9%
2,267,372 39.8% 2,266,172 40.0 % 1,200 0.1%
0 0.0% 0 0.0% 0 0.0%
5,683,434 100.0 % 5,653,027 100.0 % 30,407 0.5%
3,416,062 60.2 % 3,386,855 60.0 % 29,207 0.9%
2,267,372 39.8% 2,266,172 40.0 % 1,200 0.1%
0 0.0% 0 0.0% 0 0.0%
5,683,434 100.0 % 5,653,027 100.0 % 30,407 0.5%
3,416,062 60.2 % 3,386,855 60.0 % 29,207 0.9%
2,267,372 39.8% 2,266,172 40.0 % 1,200 0.1%
0 0.0% 0 0.0% 0 0.0%




21C
2
)

3,416,062[100.0 % 3,386,855 29,207

159,971  4.6% 145,811 14,160

1 159,971 145,811 14,160
1,672,732| 48.9% 1,660,732 12,000

” 941,111 929,111 12,000

9. 446,068 446,068 0

N 235,035 235,035 0

2- 4,944 4,944 0

5 45,574 45,574 0
1,583,359| 46.3% 1,580,312 3,047

3- 1,182,115 1,182,115 0




273,378

270,331

3,047

127,866

127,866




2004 2005 2006
1-
18 38 21 40 21 42
1,360 1,400 1,500
70% 75% 75%
7 10 6 9 6 10
450 420 470
65% 70% 70%
2-
39 51 39 60 40 50
2,190 3,210 2,500




2004 2005 2006
65% 70% 70%
21 21 21 21 26 30
5 440 10 1,130 5 600
5 11 6 12 6 11
11 910 31 2,460 31 2,460

90%

92%

92%

10%

13%

15%




2004

2005

2006

90%

92%

92%

83%

85%

85%

100%

100%

100%

85%

85%

85%




2004 2005 2006
- 100% 100%
3-
80% 80% 80%
13,137 13,700 14,000
60% 65% 70%
3-
50 60 62




5,683,434 5,653,027 30,407
3,416,062 3,386,855 29,207
159,971 145,811 14,160
159,971 145,811 14,160
132,269 118,109 14,160

(1260-1261-120-201-01)

< >
= 27,360
27,360,000 - 13,200,000 = 14,160
1,672,732 1,660,732 12,000
941,111 929,111 12,000
728,251 716,251 12,000
(1260-1261-120-201-01)
< >
( )
100,000 * 60 * 2 = 12,000
1,583,359 1,580,312 3,047
273,378 270,331 3,047
264,246 261,199 3,047

(1260-1261-110-101-09)




)
(=114,659)

30,030 * 6 * 273 = 49,190
49,190,000 * 4/12 = 16,397

30,030 *6 *6 =1,082

30,030 * 6 *20 = 3,604

5,630 * 4  *6 *40 = 5,405
49,191,000 * 10% = 4,920
30,030 * 6 * 65 = 11,712

49,190,000 * 1.5/12 = 6,149

120,000 * 6 * 12 = 8,640

90,000 * 6 * 12 = 6,480

30,000 *6 *6 = 1,080

114,659,000 - 111,799,000 2,860
(=7.907)

114,659,000 * 4.5% = 5,160

114,659,000 * 1.45% = 1,663

114,659,000 * 0.6% = 688
(=396)
15,000 * 6 * 2 = 180




- 10,000 * 6 * 2 = 120
- 8,000 *6 *2 =06
7,907,000 - 7,720,000 = 187
2,267,372 2,266,172 1,200
(1260-1261-120-201-01)
(30,000%1 *102 ) + (5,000*1 *56 ) = 3,340
3,340,000 - 3,060,000 = 280
- 11,080,000 + (5,000%1 *184 ) = 12,000
12,000,000 - 11,080,000 = 920




